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LGk Tl s en R TR % S0 2 (5] 3L, FAL4 )
(a) inti=35; intj=3; printf("%d", i+ 10) % j); (4%)
(b) inti=7; intj=3; intk=35; printf("%d", (i+ 15)/k % j); (4%)
(c) inti=20; intj=35; intk=2; printf("%d", (i+5)% (j+2)/k); (4%)
(d) inti=7;intj=35+-i* 3; printf("%d", i); (4%)
(e) inti=7;intj=35+--i * 3; printf("%d", j); (4%)

2. inAdzdl 2] AE, #4100 4)
(@ BT A B ETESE - (10%)
inti=5959;
do{
printf("%d ", i+1);
i/=10;
}while (i > 10)
(b) BT SN FEE - (10%)
int main(){
int1i,j, N;
intn=25;
for(i=1; i<=n; i++){
for(j=1; j<=n; j++){
if(i==1 [[ i==n || j==1 || j==n){
printf("*");// & d1 %5
b

else{
printf(" ");//&7 1 7 @
}
b

printf("\n");

return 0;

}

3. WA (A ] AE, FHL104)
(@ BT AN EESE 2 (10%)
int numArray[3][3] = {{1, 2, 3}, {4, 5, 6}, {7, 8, 9} };
int varA = 0;
for(int i=0; 1<3; i++){
for(int j=0; j<1; j++){
varA = varA + numArray[i][j];

}

}
printf("%d", varA);
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(b) BT AN FRE o (10%)
int numAITaY[3][3] - {{19 29 3}9 {49 55 6}9 {79 89 9}}9
int varA = 0;
for(int 1=0; 1<3; i++){
for(int j=0; j<3; j++){
if (1==))
varA = varA + numArray[i][j];
}
}
printf("%d", varA);
4. Snfc (2] 48, ﬁ%\IOA\)
(a) B 17 AR % - (10%)
void functiona(int n){
while(n > 5){
printf("%d, ", n);
n=n%2?3*n+1:n/2;

}
printf("%d", n);

}

int main(void){
functiona(40);
return 0;

}

(b)) BT AENAHFTEE o (10%)
int calVar() {
static int step = 4;
stept+=4;
return step;

j

int main(void) {
int al, a2, a3;
al =calVar(); a2 =calVar(); a3 = calVar();
printf("al, a2 2 a3 % : %d %d %d\n", al, a2, a3);
return 0;

5. B3’}\(4 g, FHS5A)
(@) 3 FERBE P PR CE D £13p th(pointer) ° (5%)
(b) P continue £ break Rf 4&F 7 it o (5%)
(c) & &1k (Recursion) T & (Definition) 2 H 4 {% (Properties) ° (5%)
(d) #FHF v|3p & #ceh Call by Value £2 Call by Reference? (5%)
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